QUESTION BOOKLET
This question paper co ntains 170 questions. -t R PERE o 170 9 21
All questions arc compulsory. / it T | :
One question carries half mark only. | T ¥4 S P dae AT HHE |
Maximum Marks : 85 rferegan 37 : 85
Time : 2 Hours g - 2 =
AL The State animal of Himachal Pradesh 18 _

(A) Musk Deer (B) Black Beer (C}) Snow Leopard (D) Elephant

Faureret ey 1 T TUE
£8) wegtn (B) Fensm Q) fmagen (D) et
2~ Himachal Day is celebrated every year on
(A) 25 January (B) 15 April (C) 1 July (D) 1 September
ofead femreer fEas w8
@ 2swEH By 15H@H () 1FWH (D) | Rereeart 1

3. Bhadal glacier is located in which district of Himachal Pradesh ?

(A) Kangra (B) Kullu
(C) Lahaul & Spiti (D) Kinnaur
syt T, fivorsre 2w < fopm faaH R 7

(A FiTEl (B) Tl () TRmEEd (D) FE
in which district of Himachal Pradesh 7

4,- Tattapani hot water spring is located
(A) Mandi (B) Kullu (C) Shimla (D) Sirmour
AT T e = won e mn S R e AR 1
A AUt (B) L (C) famen (D) Towi
5" Sujanpur in Himachal Pradesh is famous for celebration of which festival 7
(A) Dushera (B) Diwali (C) Holi (D) Nag Panchmi
%mﬂﬁu&ﬂﬁgﬁﬁg(ﬁmmﬁ; Sy s o gufeg 2 7
(A) TUET ) dast (@A (D) T
6 Which is the driest place in Himachal Pradesh ?
(A) Kaza (B) Kalpa (C) Pangi (D) Bharmour
et 5 i A o e P A ok
(B) e (C) wwit (D) WIHR
Which mountain range is also called Manak Parbat ?
(A) Dhauladhar (B) Pir Panjal  (C) Choordhar (D) Shiwalik
ﬂ?ﬁﬁammqﬁa%iﬂmﬂmﬁ% 7
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_8~ Which district of Himachal Pradesh has largest number of Industrial Units ?

(A) Solan (B) Una (C__} Kangra (D) Mandi

fenrael Weu % frm et § aftenfies sersdl <t v srfus g e ?

(A), GieH (B) A1 < @ HITS] (D) Hudl
9.  Sheep Breeding Farm in Himachal Pradesh is located at

(A) Palampur (B) Sundernagar (C) Manali (D) Taal

ferrae Yo § W W BTH Jaied @ -

(A) TERE  (B) §T@WA  (C) HARHH (D) e |

10 Karchham Wangloo hydroelectric project is located in which district of
Himachal Pradesh ?

(A) Kinnaur (B) Lahual & Spiti

(C) Kullu (D) Chamba _

HTSH TTE, STl T AT feaTae wewt o fohd et § srafeda @ 7
=it (B) e fordh

(C) FY (D) ==

11. Andretta in Himachal Pradesh is famous for

(A) Sports complex (B} Art Gallery

(C) Mountaineering Institute (D) None of these
fevTee WU § s gihE € |

(A) BA-5Fa & ol (B)) e iftrr & fod

(C) THarid! Tey™ o fere (D) 7 IS el

'\}2./ Mahima Library is located in which district of Himachal Pradesh 7

(A) Dharamshala (B) Solan (C) Nahan (D) Chamba
Hfga egedl femea ew s A S d g 2
(A) @memen  (B) ®ieW (©) == (D) =

13. When is National Consumer Day observed ?
(A) March 15 (B) December24(C) March 14 (D) December 25
T I feaw e HAET I 8 7

(A) 159/ 24famtﬁ (C) 14"E®H (D) 25 ==l

14. Which country recently became the first to recognize the India
Pharmacopoeia ?

(A) Afghanistan (B) Iraq (C) Saudi Arabia (D) Qatar
2Tl & B WIS BT Sl HT=dT ¢ JTell S Y SiF |1 8 ?

T T T e o owm |




15. What is Pinaka which was recently tested in Chandipur of Odisha ?

16.

i

18.

20.

(A) Cruise Missile (B) IED

(C) Minesweeper (D) Artillery Missile
Ww%ﬁwmﬁﬁsﬁm%aﬁgﬁﬂﬁw%mw ?
(A) % firarde (B) IED

(C) WIETER (D)) sféert ferarée

%ich?spﬂrtsman was recently named “BBC Sports Personality of the Year
2019

(A) Lewis Hamilton (B) Ben Stokes
(C) Jos Buttler (D) Eoin Morgan
%ﬂpﬂfﬂﬁ?ﬁﬁmﬁﬁaﬁzmgmﬁac w1y Hfaaea Aifira fpam ma 2

=

(A) wfg efteey éwazﬂ:r (C) S e (D) Saﬁ:m“rrrm

Who has been recently crowned Miss World Asia 2019 ?
(A) Suman Rao (B) Anukreethy Vas
(C) Shreya Shankar (D) Shivani Jadhay
I BTt it 3 o e Wl 2019 a7 e e 7

WW (B) 3¥sfa 9m
(C) =31 Wi (D) RErt srag

Which paramilitary force has recently launched the first ever matrimonial
site for its staff ?

ﬁﬂaﬁ-ﬁﬁﬁﬁﬁwﬁﬁmﬁﬁ%ﬁﬁmqﬁeﬁﬁﬁtﬁﬁwmﬁﬁﬁ
$Ig ?

(A) CISF (B) BSF (C) NSG @\[TBP
Who has recently become fastest man to reach 7,000 Test runs ?
(A) Virat Kohli (B) Rohit Sharma

(C) Steve Smith (D) Aaron Finch

Wﬁﬁﬁh?,uoowmmmmw
(4) MRt B) Mt (@) HaREm (D) wh i




21.

22,

23.

) -

itary exercise, was held recently between India 4, |

Mitra Shakti, a joint mil
i

which country ? el
(A) Nepal (B) Bhutan (C) SrilLanka (D) Ir?n

: ' e Afe eyl o o9 § 95H vayy | |
g a o ‘i wih HYh di-eh ITHATH HILd 3T _ B3N
(A) 9T (B) WH %ﬁf’m (D) A I

Carl XVI, who was recently in news, is the king of which country ? s
(A) Sweden (B) Switzerland (C) Turkey (D) Scotland

gmﬁfﬁwaﬁﬁaﬁiaaﬂé—xw%ﬂémmm/m% ?

®) =i B) fegeeivg  (C) i (D) hieAvs
Which typhoon recently hit the Philippines ? |

(A) Frank (B) Kammuri (C) Angela (D) Haiyan

&1 &l ® fheTdi=g ¥ shiq |1 % 3T ?

(A) % @ Sl (C) TSiel (D) B '

Which NASA satellite has recently found the crashed Indian Moon Landk
Vikram ?

feba 9141 39TE = BTeT & & YA T T-et fIshH o1 Helal §& (-ehiell 7

(A) CALIPSO (B) AURA  (C) Landsat7 ((D) JLRO

i

25. Which of the following has recently accepted the presidency of the GZ@
group ? &
(A) Chma (Bl Japan (C) India (D) South Arabiag
7 3 § forem &1 € 3 G-20 79 ) Sreaerar = 2 7 _
(A) = (B) WM (C) HIa @@mﬁm
26. Which city will host 2020 National Sikh Games ?
(A) Chandigarh (B) New Delhi (C) Lucknow (D)
Gurugram
I T IR T g N 2020 6 Ao s 2 ;
(A) wvehg w0 v (D) e
2?'. ‘Bhﬂrati}'aanshan Anthem’ has been written by which writer recently ?
(g) 3hankar Mahadevan (B) Prasoon Joshi
(C) Vishal Khurana (D) Ehsaan Noorani
B & H WA S T R S 3 Ry 2 -
(A) W HEREA .
a @ TSR () e gmn () TEEH
28. 3 e B

(A) 20 (B) 21 il 0 i E

Code No. = C-605/2020/Series-C




29.

30.

31.

32.

33,

Bow : Arrow : : Pisto] : 9

g;;[:'g:ﬂ (E) Gun (C) Shoot (D) Rifle
(A) ¥ (B) C) R (D) TE%et
Which i1s different from rest ?

o= | N | T i 3 -

(A) 57 (B) 87 @131 (D) 133

Which letter iE: 14" to the ri ght of 6" letter from the left in the English alphabet ?
S 9T H&R ST FuinTer & e e & 63 &R % Ml 3T 1497 e D -

(A) R (B) P (C) W @ T

How many meaningful English words can be made with the letters ‘LAME’
using each letter only once in each wo d?

(A) One () Two (C)) Three (D) Four
“LAME” % 31eRi & e a7l 3 A, S S Hehd &, Forad v avam

(A) TH B) T O @an

If GOODNESS is coded as HNPCODTR, then how GREATNESS can be
wriften in that code ?

trﬁ:-;monmssﬁmconTR%mﬁmwm,ﬁm@%

GREATNESS &1 TohT YehR forat smam 2

(A) HQZSMFRT HQFZUFRTM
(C) HQFZUODTR HQFZUMFRT

34~ IfA=1,ACE=09, then ART =2

35,

36.

ACA=1,ACE=9%, @ ART =7

(A) 10 39 (C) 29 (D) 38

Missing term in number series is -
4, ?, 144, 400, 900, 1764

(4) 25 36 (©) 49 @100

Missing terms in letter series is
_¢b_ca_bacb ca_ bac d
(A) ccaa (B) bbaa

(D) abba



37.

38.

39.

40.

N\

7
%

41.

42.

¥ '
e e . - =

In a class of 42 students, Mahesh’s rank 1S

16" from the b e i
rank from the top ? yottom. What is his

(A) 25! (B) 26" (C) 24" 7”*
;;Wﬁﬁmwﬁmmmﬁq?ﬁ 1697 2 | IHeh1 w7 3fid &

(A) 2511 (B) 261t (C) 24af (D) 274t

Pointing to a man, a lady said “His mother is the only daughter of my
mother”. How is the lady related of the man ?

(A) Mother (B) Daughter (C) Sister (D) Aunt
%wﬁwmw@mmﬁm, “Igeht Hrar 98 |1 6 Sl
31 =7 | 5% mfeen goy & Wy frg yer EahE 2 2

B) T ©) W& (D) = /e

A man travels 4 km due North, then travels 6 km due East and further
travels 4 km due North. How far he is from the starting point ?

@%4mmﬁwaﬁm%ﬁqaﬂﬁmﬁﬁaﬂtwmﬁ4mm
i T ITaT 8 | S8 319 S foreg & fehefl gl e @ 2

(A) 6km (B) 14 km (C) 8km .@lﬂkm

Today is Thursday. The day after 59 days will be
(A) Sunday (B) Monday (C) Tuesday (D) Wednesday

TS TRER 2 | 59 et & sre =i a1 feq g 7
rl%zm (B) HIWER (C) TTeE (D) §HER

The age of Rakhi is twelve times that of her daughter Anubha. If age of
Anubha is 3 year, then what is the age of Rakhi ?

(A) 20 year (B) 24 year (C) 30 year (D) 36 year
TGl <l 35 I G AR 8 12T | IR A sm 3w R, A o Hr 3w

(A) 2098 B) 247§ (C) 304 36@5

If879 =8,625=1 and 586 =9, then 785 = ?
gfe 879 =8, 625 =1 Y1 586 =9, @l 785 =2
A) )6 (B) 7 (C) 8 (D) 9




Directions : (Q. 43 to 47) : Choose the correctly spelt word out of four given
alternatives A, B, C and D.
4/ (A) Govarment (B) Goverment (C}) {uwanunuu(— Government

4. Oﬂmuﬂnly (B) Sinceraly (C) Sincerly (D) Sincerally
45. (A) Disipline (B) Dicipline @Diﬁcipiine (D) Disciplin

46. (A) Falty (B) Folty (C) Foulty ((DJ) Faulty
47. (A) eror @ error (C} erar (D) erorr

Directions : {Q. 48 to 52) : Choose the most appropriate word out of four given
options to fill in the blank :

48. Itis  useful book :
@ a (B) an (C) the (D) None of these
49" T am going Shimla.
(A) for (B) against @ to. (D) out
~58." Tt has been raining morning.
@ since (B) for (C) from (D) by
~517 Two and iwo four.
(A) makes iiEi make (C)} made (D) MNone of these
52" He had to Delhi.
(A) go (B) went @ gone (D) None of these

Directions (Q. 53 to 57) : Choose the word opposite in meaning to the given word
out of four alternatives A, B, C and D.

53. Obsolete
(A) Conducive (B) Rare (C) Useless Recent

(B) Infuriaste  (C) Absolve (D) Vindicate

(B) Plain -_{Cj Inﬁgnraﬁng@ Implied




Directions (Q. 58 to 62) : Choose the most appropriate option which can be
substituted for the given phrase/sentence out of four alternatives A, B, C
and D.

58. Science of printing _
(A) Calligraphy Typography (C) Topography (D) Cryptography

59. A man who operates on sick people
(A) Physician (B) Operator @ Surgeon (D) Physiotherapist

60. Which can be easily believed |
(A) Credulous (B) Creditable (C) Trustworthy((D) ) Credible

61. One who cannot die
(A) Stable Immortal (C) Perpetual (D) Perennial

62. A disease which ends in death
(A) Contagious (B) Lethal @Fatal (D) Deadly

3 (3. 63 @ 67) : 9 == g - i

\.,53-/, (A) AN (B) &el@H @W (D) =g

54" @) T ®B) (€) T (D). 7o 3

65. (A) vt (B IR () R (D) IRy .
&

66. (A) I 33'31,147:”7 (C) Iz (D) g8
ST A B @R (© e D) R
f¥éw (3. 68 @ 72) : wt wfr-faredg i -

68. =
fa—+anf B) fi+ad (C) I+ (D) =+ 39
69. HUS ’
(A) &+ A @ T+ (C) ®+F (D) G+
70. YA
(A) W+3  (B) I+3m  ((O)d+a@ (D) A+

T i e

A T e T T




Directions (Q. 58 to 62) : Choose the most appropriate option which can be
substituted for the given phrase/sentence out of four alternatives A, B, C

and D.

58. Science of printing
(A) Calligraphy ((B)) Typography (C) Topography (D) Cryptography

59. A man who operates on sick people
(A) Physician (B) Operator @ Surgeon (D) Physiotherapist

60. Which can be easily believed _
(A) Credulous (B) Creditable (C) Trustwnrthy@ Credible

61. One who cannot die
(A) Stable Immortal  (C) Perpetual (D) Perennial

62. A disease which ends in death
(A) Contagious (B) Lethal @Fatal (D) Deadly

3w (7. 63 @ 67) : 5 v 3T -
537 (A) FEH  (B) HeEH ((C)) e (D) e
$47 (R) T (B) ©) T (D) T
65. (A) aitsih A () e (D) oiwf
66. (A) IR Cﬂaﬂtﬂr (€) s (D) 3rgHw
ST A) B ()R (O fefe (D) s

e (3. 688 72) : wét wfy-f=dg gfiu -
68. I

1%+:mf B) F+3 () I+3d (D) T+ 3

69. T
(A) 8+ 3N @ B+ (C) ¥+ D) TW: + 7

70. 9=
(A}‘i‘?+aﬁ (B) U+ 3w @ﬁ+m (D) ¥+ 39

o'
B e



71, WA
(A) @+ 3 (B) 9t + 3 @qﬁ+m (D) 9 + a1

72. AT

(A) A" +T (B) I +7  (C) I+ (@3‘1‘:[,+3?1
73, ‘3P 1 Bt 2

(A) 3NeH (B) 3= @aﬁyﬁﬂ (D) 37z

74. ‘I & CEEEER 2

(A) ¥ B) Sham (C) (@)
75. QT U 99T 8
(A) amnﬁwm qeqEy (C) &= (D) wgsfite
76 ‘ST <hl WISETES T8
Graq, (B) e (C) S (D) S
J7— ‘Bler = s 2
@ mers (B) e (C) =R (D) ¥ 8 S
78 ‘rferep’ # Iue &
. 3Ry (B) #R (C) frep (D) S
‘T Hya 2 _
(A) fm (B)) (C) few (D) TR

80. ‘Hiar T qFIEEE B
(@) ¥ (B) wwfd (C) <Eum™ (D) Far=

8_%. Tt 7o T & 7 AR o forg o e B
(A) 3 s=E (C) I (D) ¥TF




83. The first metal used by human was
(A) Silver (B) Aluminium (C) Iron (D) Copper
HT % GRT IR h) 78 ggeft urg of

(A) =i (B) wgfifem  (C) =i @?ﬁm

84. The word “Veda’ means

(A) Power (B) Skill (C) Knowledge (D) Wisdom
s A’ T 37
| (A) Wi (B) iyt @Eﬂ?{ (D) gfgwr

B 85 Lord Mahavics died ar

¥ (A) Sarnath (B) Rajgrih (C) Kushinagar (D) Pavapuri
I# T TETe R ) 7 w9 of

g (A) §rema s (B) o R (C) FfmrH @Wﬁ

867" Arthashastra was written by

(A) Vishnu Sharma (B) Vishakhadutta
(C) Kautilya (D) Megasthenes
“rdvmE” foeh ¢ oft I

|!. (A) foomsmigm () ﬁw@aﬁw@ aﬁi{mm;r (D) =EEs g

{ 87. The official court language of The Guptas was
' (A) Sanskrit (B) Pali (C) Prakrit (D) Urdu

Tl ) SER Ty off “a

o
@ (B i (C) Wi (D) ¥g
88. The capital of the Mauryan Kindom was located at

(A) Pataliputra (B) Vaishali  (C) Lumbin: D) Gaya
o1 amEry ) e HfRrq off

THEE  (B) IwAF () i &

89. Charminar was built by

(A) Humayun (B) Ashoka (C) Shahjahan
FHAR 1 fmior fasay o

(D) Ty

(D) None of these

(C) mesTet g @ 0 QP 7




90.

91.

92.

93.

94

95.

96.

The first Mughal emperor of India was

(A) Shahjahan (B) Humayun (C) Babar (D) Akbar
HId =hl PEL| E’m m AT ;’I‘ﬂlr_ﬁ I E}:I,r

. = e
(A) YTEIEl (B) w @aﬁﬂ (D) 3Tt

The birth place of Guru Nanak was at

(A) Amritsar (B) Gurdaspur (C) Talwandi (D) Lahore
ATl <h1 =Y TS 41 A

(A) T (B) TeWR  (CPwEd (D) wmn
The first Bhakti Movement was organised by

(A) Ramananda (B) Ramdas (C) Ramanuja (D) Namdev
R Wi STTETe ST fea T e

(A) TG G (B) TN g @ THES g0 (D) AHed g/
In which year salt satyagraha took place ?
fore o o weaTE gam ot 2

(A) 1920 1930 (C) 1942 (D) 1947

Arya Samaj was founded by

(A) Vivekananda (B) Dayanand Saraswati
(C) Ram Krishna Paramhans (D) Raja Ram Mohan Roy
3™ TS <t T=&A9ET 1S ot

(A) fedshrg gr @ TG Tl g

(C) THso1 TLHEH gII (D) TS TS T g
Who was the first Governor General of Bengal ?

(A) Robert Clive (B) William Bentinck
(C) Warren Hastings (D) Lord Canning

ST T Y] AT STt i AT 7 |
(4) T vema  (B) fafem & (C)) aa dfim (D) «ié 3

Where was the ‘Azad Hind Fauj’ founded ?
(A) Singapore (B) Thailand (C) Germany (D) England

TITe feme wior” st wmaAT el 1 7T ot ? B 870
D)RmEd  (B) wmsd  (C) WA (D) TS

13
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97. Sarvodaya stands for :
(A) Total revolution (B) Non-cooperation
(C) Upliftment of all : (D) Non-Violence
dafgg s anig /4 % 3}_;‘:?

(A) ©HR  (B) s wift i 3=fa (D) sfden

98— What does the wheel in the National Flag represent ?

(A) Speed {(B) Truth (C) Future (D) All of these
Bt o =5 1 29T 2 7
(4) i T (C) wufysg (D) F@f
99. Fundamental rights can be suspended by
(A) Prime Minister (B) Govemor
(C) President (D) None of these

ST STl 1 P e 1 918 o
(A) W= g (B) Tt g @mﬁlmﬂ (D) 37 & 1 78
180. Who administers the oath of office to the President ?

(A) Chief Justice of India (B) Speaker of Lok Sabha
(C) Vice President (D) Prime Minister

TBATd $} 95 i I i frema 2 7
B v % g =mmiy (B) wieRawl % arene
(C) 3trgafa (D) waTTH

«J81. Building of the Parliament of Tndia is called
(A) Sansad Bhavan (B) Lok Sabha Bhavan
(C) Rajya Sabha Bhavan (D) Sarkar Bhavan
WA %1 Uiz $91A 1 e & -

_ EHS  (B) I BT 9 (C) T vy wm (D) HTHR ¥aq
~HIZ, Which state has the highest Lok Sabha seats in India ?

(A) Maharashtra (B) Madhya Pradesh
(C) Uttar Pradesh (D) Bihar
W%ﬁzmﬁﬁm#mﬁzﬁﬁmmm% ?

(A) mERTE HeAyey] @mﬂm (D) faew

’ i mﬂmg ir¢ fa_g;: of the judge of Supreme Court ?
(A) 60years  (B) 62years (C) 64 years (D) 65 years
ﬁam%mﬁﬂm-ﬁqﬁr Iy i R 2

ﬁq mmf (B) 629§ (C) 64 )) 65 7

14




{1‘14:' District Judge is under the control of

(A) State Government (B) High Court
(C) Supreme Court (D) Governor
faen =y P % Feamd a8
(A) T 0T (B)) 7= =marey
(C) |a= =gr=Ty (D) T=aqT
105. Which ensures grassroot democracy in India ?
(A) Panchayati Raj (B) State Government
(C) Union Government (D) None of these

YIE | GO Sidhad < ford 1 siva s 2 7
(A) TS (B) TREER  (C) HY HER @Eﬁ#ﬂﬂé?ﬁ

106. How many percent votes should a party get to be registered as a National Party ?

U UL UTE & 9§ Gofieha 5F & fordt e whtvea na s s e 2 7

(A) 1% (B) 3% () 6% (D). 10%

107. Malayalam is the official language of
(A) Haryana (B) Jharkhand Kerala (D) Uttarakhand
HSTATeH Ty 979 2

(A) EEmHl  (B) ImEsH  (C) FEH (D) IwuEvs $i

108. Which is the hottest planet in the solar system 7

(A) Mercury  (B) Venus (C) Mars (D) Saturn
g aEA HEE T gE SR R 7
(A) 99 biED (C) e (D) wfi

109. The world’s largest island is
(A) Greenland (B) Iceland (C) New Guinea (D) Madalgas::ar

e Faadag fuaat ?
!fhﬁus (B) s (C) e (D) ST
110. India is the largest producer and consumer of
(A) Rice (B) Tea (C) Coffee (D) Sugar
. @ mEwm @) mE (C) WRm (D) W
ﬁb B - 15 Coda No. - C-605/2020/Series-C




M. The largest ocean is

| (A) Atlantic Ocean
(C) Arctic Ocean
T TS HEHTR &
(A) JFeATESH WETETT
(C) i HEM™rR

112. Dark continent is
(A) Africa
(C) Australia
34 HETEY 2

(&) sk

(B) <fw smfwrr (C) sriefern

(B) Indian Ocean
(D) Pacific Ocean

(B) fe= wammR
@Wﬁﬂ‘s’mﬂn

(B) South America
(D) Asia

(D) uf¥rn

113. India has longest international border with which country ?

(A) Bhutan (B) Nepal

(C) Bangladesh (D) Pakistan

wﬁmwmﬁaﬁﬁmm&ﬂ%w%?

(A) YA (B) =9t

(D) wIfFem

©) siemes

114. Where is Lakshadweep island located ?

(A) Indian Ocean
(C) Arabian Sea

T&TEIY el T IEfa @ 7

115. Indian desert is known as

(A) Gobi (B) Sahara
YT HEEUS ST ST 8
(A) it (B) ®WEWr
11 e highest peak in India is
J/?lj) Nanda Devi
(C) K2
(A) Teresh (B) g
i17. Loktak is a
(A) Valley (B) Lake
AHeH & Th
@@ (@)

(C) Tewe

(B) Bay of Bengal
(D) None of these

(B) st $ @it i
(D) 38 9 &S 7

(C) Thar

@)

(B) Kanchanjunga
(D) Kamet

(D) Atacama

(D) e

@ K2 (D) Hme
(C) Glacier (D) River
(D) =

.-1 - W O™ SN S pe s WA P .Y ey



118. Which of the following dam of India is the highest ?
(A) Mettur ~ (B) Rihand (C) Thein (D) Bhakra
A <1 I 91 919 g8 S=1 8 7

(A) HK (B) fe=< (C) ofz m@-en

119. Which crop is cultivated in zaid season ?

(A) Watermelon (B) Soyabean (C) Maize (D) Jute
IF 9l BHe Sig JEH 3 I7E et @ 2
@7 ®) @R ) mwm D) w

J20:” Where is famous ‘Gir’ forest located ?
(A) Gujarat (B) Rajasthan (C) Maharashtra (D) J &K

quitg I o9 gl W safa 2 2
m (B) TIEH (C) HEwIE (D) 9 3R FR

\yl.” ‘Mumbai High’ is related to
(A) Iron (B) Petroleum (C) Tomb (D) Jute

“HrS B1S” Tl B -
(A) WR¥  (B) Whemd (©) wWwa (D) wa

122. Singhbhum is famous for

(A) Coal (B) Iron (C) Copper (D) Aluminium
feengm uftg 2 -
(A) Fa % ol @) &
(C) am o ford (D) Tt & fom
123. Which state has highest density of population ?
(A) U.P. (B) Bihar (C) West Bengal (D) Haryana

g TSy SHgET YA gaT=E § 7
(A) 7. fasn (C) "M ema (D) whamm

24. Which river joins Ganga from Southern side ?

(A) Betwa (B) Chambal (C) Sen (D) Ken
i €t 7 gférofi wor & 7 F fyerdt @ 2
(A) Sgar (B) w=d @ qH (D)

25. Konark Sun temple is located in which state ?
(A) Odisha (B) Tamil Nadu (C) Kerala (D) West Bengal

ﬁvﬂ%wq&uﬁtmmﬁm%? |
@ sifem (@) ey (C) FW (D) wivem el




Ll}ﬁ/lr“h»a capital of Gujarat is at

(A) Gandhinagar (B) Surat (C) Ahmedabad (D) Vadodara
TSI &) Ty 2
TR (B) @ (C) JEwqEE (D) Feren
127" The currency of Bangladesh is
(A) Taka (B) Rupees (C) Dollar (D) Kyat
SETTCRT % St 7z 2
. 1T (B) (C) sfer (D) FTa
128. The largest Commercial Bank of India is
(A) SBI (B) Central Bank of India
(C) Bank of India (D) Indian Overseas Bank
VI <Al Hed oSt Fifvrfoyes S 2
(a) sBI (B) @< e 3 shea
(C) ¥ 311% sfean (D) 3fs3A 3eetE™ S
/29/ Insurance sector is regulated by
(A) SEBI (B) RBI (C) IRDA (D) None of these
=1 &3 1 s s T e 2

(A) SEBI (B) RBI (©) RDA (D) 7% 3 FE &

\}B/ The first five year plan period was
qEFﬁ‘F-EWﬂ'?I i oft |
. 1951-56  (B) 1952-57  (C) 1953-58 (D) 1954-59
131. Devaluation makes import
' (A) Competitive (B) Inelastic (C) Cheaper (D) Dearer
T T

(A) e ST R | (B) 39Uy ST ¢ |
(C) &I ST | (D)) wém s 2 |
132. Blue revolution is related to
(A) Fish production (B) Agriculture production
(C) Oilseed production (D) None of these
et shifd 7 Ty 2
.m-lwaqﬁ (B) HiN IurcTq

(C) forete eurea & (D) ¥ &+ 7




Do)
gﬁf F:;nbnﬂ 1S a type of
Herb (B) Tree (C) Shrub D
' Vi _ G
e 6 /T2 (D) Grass
(A) e (B) 9 (C) = @ =T
/ The causal organism of Polio is
(A) Worm (B) Bacteria (C) Fungi ‘
gl \'
Qe =1 w8 @ RP

(A) i (B) ftemy (C) Ha% (D) femmyy
135. Yeastisa

(A) Bacteria (B) Fungi (C) Algae (D) None of these
fie et

W Fm (@B ww O w0 AR

136. Resin is a product of

(A) Grapes (B) Rubber tree
(C) Banyan tree (D) Coniferous trees
RS E R T | T

(A) IERF  (B) WSTREH (C) WERHTS @fwﬁi&m

137. Where does the cabbage store food ?
(A) Leaves (B) Stem (C) Fruit (D) Seeds
APt (SHfersT) SET s &1 999 F@T 8 7

Otﬂ%ﬂ‘rﬁ (B) @ # (C) a1 (D) fi9d

[38. The Commonest mammal is

(A) Human (B) Lion (C) Elephant (D) Panth;e:r
FagmE= T 8
(&) wra (B) R (©) wh (D) ¥er

39. The most healthy edible oil for heart is
(A) Butteroil (B) Oliveoil (C) Rape-seed oil (D) Mustard oil

W%ﬁ-ﬁ"ﬂﬁﬁm(ﬁm%
(A) IEH I (C) W-HgdId (D) w@l w1

40.+ Sour milk contains
(A) Aceticacid (B) Tartaric acid @ Citric acid @ Lactic acid
T qu A AT R
() @i ar (B) TRE I (C) WRigw v (D) wfdes It




14_!,-.--{ung5 are the primary organs {.jr |
(A) Digestion (B) Constipation (¢)

ﬂ%%mafﬁmam%
(A) 9T=H & B) wemg®  (C) wed & @ va49q &

Perspiration (D) Respiration

1424 Haemoglobin is a
(A) protein

e 8 U
SIEAL (B) Feiennge (C) 9 (D) Tt

143. At what temperature (in Fahrenheit) pure water freeze 7

forg AT W (RS §) Y 9ol 59 Sl 2 ?

32 (B) 0 (C) 48 (D) 37

144. Who invented X-rays ?
(AY Roentgen (B) Becquerel (C) Marie Curie (D) None of thes

&7—ThTuTl =BT s form fopa o ?
ﬁmﬁ‘ (B) s=w@wa (C) HwdY (D) FHARLAL

145. Which colour is formed when Red and Green are mixed ?

(B) carbohydrate (C) fat (D) vitamin

(A) Blue (B) Yellow (C) White (D) Grey

Se ool qT R B MBm e S A e wr wreaar 22

(A) e e (C) u%g (D) T ()
146. The spokes in the wheel of a bicycle increase its

Moment of inertia (B) Velocity
C) Acceleration (D) Momentum

STSETS(ha % Ufedl 8§ o Tied 92 & 39T -

(A) ST e (B) =

(C) = (D) gaw

147. e atmospheric air is held to the Earth by
Gravity (B) Winds

(C) Clouds By
YAV Fa ol R it el 2 - (D) Rotation of the Earth
(A) Eﬁ%m B) S A w
(C)_m%m (D) 9=t & yuiq & emp

a3 AT . M CFOEARANRIC =




48. Which metal is used to Galvanize iron 7

(A) %CHI}PEI (B) Zinc (C) Tin D)
dre mﬂf_“a:“ﬂﬂ“i%%rq_ﬁjlﬁ T, 39917 © = 37} 27 ) Nickel
i (5] e (C) T (D) P
149. Vinegar 18 the common name of
(A) Acetic acid (B) Hydrochloric ac
(C) Oxalic i;d% (D) Mai{f zciam e
() whfe st (B) T s =
(C) HAfasifctsh 3T I (D) #fe 3t =
150. Ruby and Saphire are the oxides of '
| (A) ;,;p]:ler s af;E!} Tin ; (C) Iron (D) Aluminium

(A) THH B) f&® (C) #lE @W&Tﬁ“*
151. Which gas is used as a Fire Extinguisher ?

(A) Carbon dioxide (B) Carbon monoxide
(C) Sulphur dioxide (D) None of these
SrfereT % =9 1 Fhg g %1 38 e S e 7

@wﬂﬁ eEHAEEEE (0 (B) HIeH HIAIATFTSS
(C) TeHRlSEmEE (D) 7§ B 7€

152. Fermentation of starch gives
>% (A) Ethanol  (B) Ethanal  (C) Methanal (D) Methanol

=T &1 fHvEm 2 &
@ T (B) uwiHe (C) o= (D) HeATE

' ,@" Which is the longest river of Himachal Pradesh ?
- (A) Satlyj (B) Beas (C) Yamuna (D) Chenab

1 fenree v i gad et A S A E
- @) (B) = (C) T (D) ™
_. Total Admi_nisnutive Divisions in Himachal Pradesh is
- feree wew A e At wam @
(A) 2 B) 3 (C) 4 (D) 5
5. Total geographical area of Himachal Pradesh 15 None of these
(A) 55373km? (B}) 55673 km? (C) 55873 km?2 (D)
_iﬁ’. “_“H—W;ﬁaﬁ- fifes mﬁ ©) 55873km? (D) il & I8 T




156, Highest peak of Himachal Pradesh 1s

(A) K2 (B) Kanchenjunga
(C) Shila (D) Hatu
fenmae yew %1 3= et 2
(A) K2 (B) AT @ fare (D) &
157 Great Himalayan National Park is located in which district of Himachal
Pradesh ?
(A) Kullu (B) Mandi
(C) Lahaul & Spiti (D) Shimla
N2 feuTers e uTeh fearae wew & fope foel 1 Jefea 8 ?
ﬁ (B) W& (C) s fadt (D)  Rwen
1587 "Who was the first Chief Minister of Himachal Pradesh ?
(A) Thakur Ram Lal _ (B) Veer Bhadra Singh
(C) Shanta Kumar (D) Dr. Y.S. Parmar
femT=rer wew =1 vy @i o 2 _
(A) ST T (B) g fug
(C) SATHAR @ﬁ 9. TH. TR
159. Himachal Pradesh became union territory in which year ?
fear=re wew form o @ st &3 W 2
(A) 1951 (B) 1954 @ 1956 (D) 1963
lgﬂ. Sn}alle?.t district of Himachal Pradesh (area wise) is
(A) Bilaspur (B) Una (C) Hamirpur (D) Kuiiu

fearae 3¢9 =1 i 41 fyen (S HER) GO BRI B ?
(A) RemeR  (B) v Osx @) w1
161. Chaudhary Sarwan Kumar belonged to which district of Himachal Pradesh ?

(A) Kangra (B) Mandi (C) Shimla D) Sol
ﬁﬂﬁwn%nﬁam%%ﬂﬁlﬁﬁﬁﬁaﬁ? sy

@ﬁm (B) wugt (C) e (D) Hie=

(A) Sirmour (B) Chamba .

(C) Kinnaur (D) Lahaul & Spiti
Wzoll%mmm%mﬁﬁéfum&m?l fran g 72

1



163. Population density of Himachal Pradesh as per census 2011 is

ST 201 1 % ITER fRmTEe Yo 1 STEE uae 2

(A) 109 (B) 116 () 121 D) 123
1@\4. Masrur rock cut temple is located in which district of Himachal Pradesh
7~ (o) Mandi  (B) Kulli  (C) Kangra (D) Chambs
al et Stor afex feuree yew & fhy foret 1 arafea 2 ¢
(A) HUS! (B) el @ TSI (D) =

165. The oldest democracy in the world is
(A) Malana (B) Kamru (C) Bharmour (D) Trilokpur

forea =1 Wreh=ae oiad 8
AT o
HFFF!T (B) =HhHE (C) TR (D) Tehqt
166. Who was the founder of Sirmour princely state ? |
(A) Raja Rasaloo (B) Bhuma Chand
(C) Abhay Chand (D) Meru Verman
oIt Tt T T T b o7 ?
wrmq (B) uTEg (C) Hwg=q (D) HE® A

167" Thodo ground is located in which district of Himachal Pradesh ?

(A) Shimla (B) Una (C) Solan (D) Sirmour
el BeH feuaa weu & fFra R g @ 2
(A) R (B) 3 @"éﬁ?ﬂ (D) fawk

16%. Himachal Pradesh High Court was constituted in which year ?
feaTae Yew 3= e forg o Tifed femar a2

(A) 1966 (B) 1970 (CY 1971 (D) 1985
169~ Minjar fair is celebrated in which district of Himachal Pradesh ?
) (A) Mandi (B) Kullu
((;) Lahaul & Spiti (D) Chamba
feror T femmeret wew < fobm fSret @ waman S @ 2
(A) TuEt (B) 3
| (C) wiete wa ford (D))=
S B
E\ljﬂ“ Bhoranj Sub-division is located in which district of Himachal Pradesh ?
& (A) Hamirpur (B) Bilaspur  (C) Una (D) Kullu
WIS Igaur feree wen & fra fa a0 2 2

@A) eRg  B) FEmER (€ o (D) 3




